Carson McCuller’s The Jockey

1. Describe your initial response to the story

2. Reread the first two paragraphs and underline all details describing the Jockey’s appearance.

3. How do the three men differ from the Jockey?

4. What past event seems to have caused Bitsy Barlow’s anger?

5. What is a libertine?

6. Focusing on the central conflict and resolution, state the theme conveyed by the story.

7. Why does McCullers include the line, “Everyone was with somebody else; there was no other person drinking alone that night?”

8. Why does Bitsy Barlow chew up and spit out the French-fried potatoes at the end?

9. Why are the men silent at the end?
10. Identify and evaluate the point of view in the story.  What effect does it have on the work as a whole?

11. Identify the central conflict.
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In what way are the jockey and the three men symbols?

13. Why, then, does the conflict in the story remain unresolved? 
